(A 1) AR R
FISERA (- =5BR)
X W =
(ZD—) BE BRI R E
I b3
® ey = H ey
i F A5 R e OV 1) R 537, 478 e B AR P A 445, 496
AL 100, 370 NS 134, 520
K Bl 3¢ IR ¢ 5,518
TR MR 66, 863 VRV TR A E 14, 824
FEBE - SAHG PR AT AR 789
FRARVZAE - AR < KEMEIRE
Yt 66, 863 e RS RIS o 178,993
Z DA it 5 11, 258
P VS 22 168 it % 0 e S 22, 327
(7L PEL IR B 7,730
] B BREL R - TR B 69, 537
Z OAth, VRV JE A 0
i SUE & gk % 131, 427 T HUER Y A AR
TR AR AR Z Ot 0
fof SUE & M 131, 427 i Bl 4 23508 4
S il FPBL R4 4
PR B
TRE Ji % THE R
PR A8 Mt 65, 570 Z DA
LSgt ) 65, 570 e E BPR N E R 0
HrARY &
Z OAth, KEEIAE
PRVE 1 et b i TeA
JFE ) AL B Jite 5% FF
VRS B 05 ke it EERAHEE T E
PRTE R A ik JLA
i ftafa K % 660 F 7
MRS EE - (R4 Z DAt 0
GIE & JLA
0 E Fl5-
b 102, 674 B &= RN YN 761, 310




(ZD—) #EHE BRI RS

I

# H

2]
Z DA
b R
K3 R
RO ER B
RVAZHD S
FHE
] 5 HH 4
WIE R AT LR
KEBERAHESE
BB PEE T gl Bh &
Z DO
W« TR S 4
A AR S

W PETEHAUN

< Ot
il 4
Al
SIE i 42 55
P
= Rkt
R e
=i IN
TR BG4
L N
FTAF LA A4
T O
—ARRE DD O E

108
69, 806
87, 360
87, 360

788
788

581, 180

581, 040
134

PAS =
=

1, 206, 806

o

&t

1, 206, 806




(3HE2)

(D7) AR BIFRISC S

KR e

I X
E’ : e ® : e
] Je 3 4 183, 466 R AR P 102, 442
FEAR S 183, 466 N-# 77, 880
R it 0 T 1,937
BREEMIRR « PRAEMERR 0 A 22, 625
W - TR 34 73,313 BN s B i B 439, 461
FEA 5% 73,313 EEFEAHEE 0
MR it 0 M FEAHRE 439, 461
BRBEMRR « PR ax 0 L R A 44, 790
JE AR Jitia% A
XA H AR 0 BN EAHRE 44, 790
FEA ek BRETAEAN - PR Rl iR R A 2 0
i X EEFEAHEE
BRI - PR I FEAHEE 0
JEAE R R JEL A it i e
& 226, 100 VEZE M
FEAR R 181, 400 HE 4
M E iR 44, 700 B4
BRBERR « PR ax 0 Z DAt 0
Ry 6 FHBD iR 4
VRS FATRITE R
Z D TRt L EE
B AMEIR S AR BR AN E R &% 632, 340
< Dt 0 Ny 632, 340
R R FEA % 411, 021
N LUAUE NATPN LA 362, 986
FATHE R AR Fl+ 48, 035
EXOE R it 126, 468
=50 b DfEAE JLA 111, 688
ZREHF A A 14, 780
BB R A A BRI AR« PR AN 94, 851
JLAR: 83, 766




(ZD ) "R BRI mR S

I A X t
H : G H . e
— S F D DA E 736, 154 F7 11, 085
BN 33 412,303 A i 5 0
R 126, 558 JoAE
BREZEA - PR AR 94, 851 F 7
JEAE R R VRS 0
(=S TLA
& 4 F 7
B4 Z DA 0
Z DA 102, 442 Sy
Fl+
B Ee RN YN
= 7 1,219, 033 a 7 1,219, 033




